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static void
{
for (

it
if (i < 5)

Console.WriteLine("i =

answer number 2




static void Main(

{

1 1010 55550 280

1 1010 55550 288




static void

{

count

while (count

{
if (count % 4 == 0 &&
{

break;

Console.WritelLine("count :

count++;

1- count
count

count




}

Cancnla Wini +
Console.Write




static void Main

{

d;

while
{
n % 10;
1 = n / 19;

Console.Write(d);

1=1.23 2-9321




static void Mai

{
for ( i=0; 1i<=13; i++)
{

if (i%2==0]]1i>6)
{

continue;




{

B e S = o

Console.Write(k + " ");

1- 4 8 12 16 20

2- 4 8 12 16

3- Other

4-

Correct answer




}

Console.WritelLine(z

1- 84:91

3- Other

Correct answer number




= X3

Console.WritelLine(z);

= (& 2- infinty Loop

3- Other




1- A,C,

3- Other

( P 4-
orrect answer
HOWCET




static void Main(

{

for ( i s ; 1+4)

1 n ll).
LE )

2- 65,66,67,




< Question 12 >




static void Main(




{




static void Main(
{
Random rnd
for ( i
{

Console.Write(rnd.Next(16) + " ")

1-1172"3 4 15 6°'5 12

3-548620 14 15

+ 1 and 2 and 3




< Question 16 >

void |
s, r

9147;

s % 10;

s / 10 % 10;
/ 100 % 10;

s / 1000;

a * 1000 + b * 100 + c * 10

onsole.Write(r + " ");

(a + 4) % 10;
(b + 4) % 10;
(c + 4) % 10;
(d + 4) % 10;
r=d%* 100 + c * 1000 + a

nsole.WriteLine(r);

7419 5314 2- 7419 5315

Other




static void Main(

S, b;

25000;

else if (s < 20000)

1000 + (s - 10000) * 0.20;

3000 + (s - 20000) * 0.30;




(<

011 :
Question

{

1- @,5,14,30, 2- 1,5,14,30,

3- Other 4- Error




{

tot += val;

Console.WriteLine("Enter integer , -1 to Quit: ");

str = Console.ReadLine(); val = .Parse(str);
count += 1;

}while (val != -1);

if (count != -1)
{
)tot / (count -1));




static void Main(

{

6/ (i+1);

18=00: 1 <= 3;811¢)

e.Write(arr[i] + ",");




static void Main( [] args)

{

1-

122 5.3

3- Other




2- 123456789




static void Main

{




< Question

static void Main( [] args)
{

[] arr = { "Abd", "Khaled", "Mohammad", "Ahmad" },

for (int i = -1; i < arr.Length - 1; i++)

{

Console.Write(arr[i+l] + " ");




te("in pnx()"




=0 1 <= 1; 1++)

1] < 40 || (x[i] + p[i]) -

ite(b + " ,");

le.Write("\n");







static void Main( [] arg

{

e Hrite(sn2(3) + ,");




in( []

[] Xam = { 60, 45, 55 };
[] Xpract = { 20, 10, 4 };

= { true, true, true };







[]
{1, 5, 6, 8, 1, 2, 10, 50, 30, 600, -4, 1, 200,
600, 200, 30 };

[e];
9;

9;










"cat")

(EIsicat™)s

"dog";

"correct”;




static void Mair










1- 9,10,5,8,
3- 9,5,8,10,










static void

{

}

public static void u(

{

' 2;




1- 10 30 30 2- 30 30 10
3 ‘ 4- 30 10 30







( []

(z(@,5) + ",");
te(z(12;-6) + 5,7);
(z(15,5) + ",");

(O




